Day 2 Answers

Task 1 Task 2 Task 3 Task 4
Developing Task Answers Arithmetic Problem Solving Reasoning
1a. a) X1, Xl
b) XXXV, XXXVII 8. 1373 al. Greater Depth
c) LXI; LXHI 7a. CDXVIII, DVI, DCCCLI
2a. XV, XIX, XXXI, L 2000 8a. M = 1,000; CD = 400; IX = 9;
3a.> <, = 9. 25 Do not accept ‘two thousand and six’ in words. MCDIX = 1,409
4a. MMII 9a. 3 possibilities: CDXII (412); DCXII (612);
10. 240 DXCII (592)
Practice Q2.
5a. a) Clv, CVI 11. 2916 MOMI
b) CCLIV, CCLVI -
C] DKXV, DXXVII 12 5 Accept other clear indication
ba. CXCIX, CCCXC, DC, CMI )
Ta.», = <
8a. MLXVI 13. 6606 Q3.
LIV
14. 26

LXVI




